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QUESTION 1

During implementation, the customer would like to use safety stock planning parameters. However, they would like to
uncheck "Safety stock change interval to all items." What will the results be if they choose to uncheck this parameter? 

A. Safety stock will not be calculated at all for this plan. 

B. This option will require a min/max quantity for this parameter even though it will not be used. 

C. Safety stock will use a smoothing method to calculate the safety stock within change interval to determine the level of
safety stock needed without this parameter. 

D. Safety stock change interval will only apply to items with Days of Cover safety stock method. 

Correct Answer: D 

 

 

QUESTION 2

You ran a demand plan and you are reviewing the shipments forecast value measure. It is always zero for a particular
item. Identify the root cause of this problem. 

A. In planning measures catalog, shipment forecast value measure is not enabled at item and organization level. 

B. In plan parameters, Item List Price marked as primary does not have price defined for the particular item. 

C. In plan parameters, shipment forecast value measure expression is not defined. 

D. In planning measures catalog, shipment forecast measure is not enabled at item and organization level. 

Correct Answer: A 

 

QUESTION 3
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The five pre-configured review stages of a Sales and Operations Planning process are Product Review, Demand
Review, Supply Review, Financial Review, and Executive Review. 

If Product Review is NOT an integral part of your company\\'s SandOP process, how do you configure the system to
ignore it? 

A. In Manage Planning Cycles, right-click the Product Review tab. and select Delete. 

B. It is not possible to ignore any of the 5 pre-configured review stages. 

C. In Manage Planning Cycles, do not add any participants or tasks for the Product Review stage. 

D. In Manage Planning Cycles, go to the Actions menu, select Configure Stages, and set Enabled for Product Review to
No. 

Correct Answer: D 

 

QUESTION 4

What is one method of associating a Safety Stock Quantity value to an item? 

A. Upload the value using File Based Data Import (FBDI) 

B. Enter your value in the Safety Stock Quantity column in the Items page. 

C. Run the Safety Stock Quantity Update Process. 

D. Enter your value in the Safety Stock Quantity Override column in the Items page. 

Correct Answer: B 

 

QUESTION 5

Which is the correct sequence of possible solutions that a constrained plan might consider when attempting to resolve a
capacity or resource overload? 

A. First alternate resources, then substitute components, then alternate work definitions and item structures, and finally,
alternate suppliers and source organizations. 

B. First alternate suppliers, then alternate resources, then substitute components, then alternate work definitions and
item structures, and finally, alternate source organizations. 

C. First subscribe components, then alternate resources, then alternate work definitions and item structures, and finally,
alternate suppliers and source organizations. 

D. First alternate item structures, and work definitions, then substitute components, then alternate resources, and finally,
alternate suppliers and source organizations. 

Correct Answer: A 
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